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1. Represent the following system of equations with matrices
3x -4y =10
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3 Find [4] - [B]. Show how to calculate at least two of the entries in the answer matrix by hand.
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4. Find 2[A] — 3[C]. Show how to calculate at least two of the entries in the answer matrix by hand.
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6 Solve the following matrix equatlon for [x] using matrix inverse b\’;%/—/'\
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7.Use the provided matrices belowra d yre Wiich combinations can be multiplied together.
then indicate the dimensions‘x f the resulting matrix (don't actually calculate)
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« Solve this matrix using the determinant method (4]t
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